

Mathematical Sciences Letters An International Journal

On Characterizing Probability Distributions by Conditional Expectation of Two Order Statistics

Haseeb Athar* and Zubdah-e-Noor

Department of Statistics & Operations Research, Aligarh Muslim University, Aligarh - 202002, India

Received: 25 Feb. 2015, Revised: 28 May 2016, Accepted: 31 May 2016 Published online: 1 Sep. 2016

Abstract: The order statistics have been extensively studied in the literature to characterize some particular distributions as well as family of distributions. The problem of characterizing distributions through conditional expectation of adjacent and non-adjacent order statistics has been of increasing interest due to its several applications. Several approaches are available in literature. In this paper, two general classes of distributions $F(x) = 1 - e^{-ah(x)}$ and $F(x) = 1 - [ah(x) + b]^c$, where h(x) is a continuous, differentiable and monotonic function of $x\varepsilon(\alpha,\beta)$ have been characterized through the conditional expectation of k^{th} power of difference of two order statistics. Further, several deductions and particular cases are discussed.

Keywords: Order statistics, conditional expectation, continuous distributions, characterization.

1 Introduction

Let $X_1, X_2, ..., X_n$ be a random sample of size *n* from a continuous population with the distribution function (df)F(x) and the probability density function (pdf) f(x) and let $X_{1:n} \le X_{2:n} \le ... \le X_{n:n}$ be the corresponding order statistics. Then the conditional pdf of $X_{s:n}$ given $X_{r:n} = x$, $1 \le r < s \le n$, is [David and Nagaraja [1]]

$$\frac{(n-r)!}{(s-r-1)!(n-s)!} \frac{[F(y) - F(x)]^{s-r-1} [1 - F(y)]^{n-s}}{[1 - F(x)]^{n-r}} f(y), \ x < y$$

Conditional moments of order statistics are extensively used in characterizing the probability distributions. Various approaches are available in the literature. For detailed survey one may refer to Khan and Ali [2], Khan and Abu-Salih [3], Franco and Ruiz [4,5], López-Blázquez and Moreno-Rebello [6], Wesolowski and Ahsanullah [7], Dembińska and Wesolowski [8], Khan and Abouammoh [9], Khan and Athar [10] and references therein.

Khan and Abu-Salih [3] characterized some general family of distributions through conditional expectation of functions of order statistics fixing adjacent order statistic. Further, Khan and Abouammoh [9] extended the result of Khan and Abu-Salih [3] where the conditioned order statistic may not be adjacent one. Khan *et al.* [11]

characterized a general form of distribution by conditional spacing of order statistics. Here in this chapter, an attempt is being made to characterize two general forms of distributions $F(x) = 1 - e^{-ah(x)}$ and $F(x) = 1 - [ah(x) + b]^c$, $a \neq 0$ through k^{th} conditional moment of difference between functions of two order statistics.

2 Characterization theorems

Before coming to the main result, we shall prove the following lemma:

Lemma 2.1. For any positive integers μ and ν with $n \in N$

$$\int_{0}^{1} (\ln u)^{n} (1-u)^{\nu-1} u^{\mu-1} du$$

= $(-1)^{n} n! \beta(\mu, \nu) \sum_{i_{1}=0}^{\nu-1} \sum_{i_{2}=i_{1}}^{\nu-1} \cdots \sum_{i_{n}=i_{n-1}}^{\nu-1} \frac{1}{\mu+i_{1}} \frac{1}{\mu+i_{2}} \cdots \frac{1}{\mu+i_{n}}$ (2)

where $\beta(\mu, \nu)$ is complete beta function. *Proof.* Consider $\int_0^1 (\ln u)^n (1-u)^{\nu-1} u^{\mu-1} du$.

For
$$n = 1$$
, we have
 $\int_0^1 (\ln u) (1-u)^{\nu-1} u^{\mu-1} du$

$$=\beta(\mu,\nu)[\psi(\mu)-\psi(\mu+\nu)] \quad \text{see [11]}$$

$$= -\beta(\mu, \nu) \sum_{i_1=0}^{\nu-1} \frac{1}{\mu + i_1}$$
(3)

Again for n = 2, we have

1

$$\int_{0}^{1} (\ln u)^{2} (1-u)^{\nu-1} u^{\mu-1} du$$

= $\beta(\mu, \nu) [\{\psi(\mu) - \psi(\mu + \nu)\}^{2} + \psi'(\mu) - \psi'(\mu + \nu)]$ see [11]
= $2! \beta(\mu, \nu) \sum_{i_{1}=0}^{\nu-1} \sum_{i_{2}=i_{1}}^{\nu-1} \frac{1}{\mu+i_{1}} \frac{1}{\mu+i_{2}}$ (4)

where $\psi(x) = \frac{d}{dx} \ln \Gamma(x)$ with functional relation $\psi(x+n) = \psi(x) + \sum_{k=0}^{n-1} \frac{1}{x+k}$.

Now we assume that (2) holds for n = k, then

$$\int_{0}^{1} (\ln u)^{k} (1-u)^{\nu-1} u^{\mu-1} du$$

= $(-1)^{k} k! \beta(\mu, \nu) \sum_{i_{1}=0}^{\nu-1} \sum_{i_{2}=i_{1}}^{\nu-1} \cdots \sum_{i_{k}=i_{k-1}}^{\nu-1} \frac{1}{\mu+i_{1}} \frac{1}{\mu+i_{2}} \cdots \frac{1}{\mu+i_{k}}.$
(5)

Then, the statement should be true for n = k + 1.

Therefore, integrating by parts, we get

$$\int_{0}^{1} (\ln u)^{k+1} (1-u)^{\nu-1} u^{\mu-1} du$$

= $-\frac{(k+1)}{\mu} \int_{0}^{1} (\ln u)^{k} (1-u)^{\nu-1} u^{\mu-1} du$
+ $\frac{(\nu-1)}{\mu} \int_{0}^{1} (\ln u)^{k+1} (1-u)^{\nu-2} u^{\mu} du.$ (6)

In view of (5), (6) reduces to

$$= (-1)^{k+1} \frac{(k+1)!}{\mu} \beta(\mu, \nu)$$

$$\times \sum_{i_1=0}^{\nu-1} \sum_{i_2=i_1}^{\nu-1} \cdots \sum_{i_k=i_{k-1}}^{\nu-1} \frac{1}{\mu+i_1} \frac{1}{\mu+i_2} \cdots \frac{1}{\mu+i_k}$$

$$+ \frac{(\nu-1)}{\mu} \int_0^1 (\ln u)^{k+1} (1-u)^{\nu-2} u^{\mu} du$$
(7)

Similarly integrating (7) by parts $(\nu - 1)$ times and using (5), we get

$$= (-1)^{k+1}(k+1)! \beta(\mu, \nu)$$

$$\times \frac{1}{\mu} \sum_{i_1=0}^{\nu-1} \sum_{i_2=i_1}^{\nu-1} \cdots \sum_{i_k=i_{k-1}}^{\nu-1} \frac{1}{\mu+i_1} \frac{1}{\mu+i_2} \cdots \frac{1}{\mu+i_k}$$

$$+ (-1)^{k+1}(k+1)! \beta(\mu, \nu)$$

$$\times \frac{1}{\mu+1} \sum_{i_1=0}^{\nu-1} \sum_{i_2=i_1}^{\nu-1} \cdots \sum_{i_k=i_{k-1}}^{\nu-1} \frac{1}{\mu+i_1} \frac{1}{\mu+i_2} \cdots \frac{1}{\mu+i_k}$$

$$+(-1)^{k+1}(k+1)! \beta(\mu,\nu) \\ \times \frac{1}{\mu+2} \sum_{i_1=0}^{\nu-1} \sum_{i_2=i_1}^{\nu-1} \cdots \sum_{i_k=i_{k-1}}^{\nu-1} \frac{1}{\mu+i_1} \frac{1}{\mu+i_2} \cdots \frac{1}{\mu+i_k}$$

 $+\cdots\cdots$

$$\begin{split} &+(-1)^{k+1}(k+1)!\,\beta(\mu,\nu)\\ &\times \frac{1}{\mu+\nu-1}\sum_{i_1=0}^{\nu-1}\sum_{i_2=i_1}^{\nu-1}\cdots\sum_{i_k=i_{k-1}}^{\nu-1}\frac{1}{\mu+i_1}\frac{1}{\mu+i_2}\cdots\frac{1}{\mu+i_k}\\ &=(-1)^{k+1}(k+1)!\,\beta(\mu,\nu)\\ &\times \frac{1}{\mu+1}\sum_{i_1=0}^{\nu-1}\sum_{i_2=i_1}^{\nu-1}\cdots\sum_{i_{k+1}=i_k}^{\nu-1}\frac{1}{\mu+i_1}\frac{1}{\mu+i_2}\cdots\frac{1}{\mu+i_{k+1}}. \end{split}$$

Therefore (2) holds for n = k + 1.

Hence the Lemma.

Theorem 2.1: Let X be an absolutely continuous random variable with the df F(x) and the pdf f(x) in the interval (α, β) , where α and β may be finite or infinite, then for $1 \le r < s \le n$,

$$E[(h(X_{s:n}) - h(X_{r:n}))^{k} | X_{r:n} = x]$$

= $k! \frac{1}{a^{k}} \sum_{i_{1}=r}^{s-1} \sum_{i_{2}=i_{1}}^{s-1} \cdots \sum_{i_{k}=i_{k-1}}^{s-1} \frac{1}{(n-i_{1})} \frac{1}{(n-i_{2})} \cdots \frac{1}{(n-i_{k})}$
(8)

if and only if

$$F(x) = 1 - e^{-ah(x)}, \ a \neq 0$$
 (9)

where h(x) is a continuous, differentiable and non-decreasing function of x and k is a positive integer.

Proof. To prove the necessary part, we have

$$E[(h(X_{s:n}) - h(X_{r:n}))^{k} | X_{r:n} = x]$$

$$= \frac{(n-r)!}{(s-r-1)!(n-s)!} \int_{x}^{\beta} (h(y) - h(x))^{k}$$

$$\times \left[1 - \frac{1 - F(y)}{1 - F(x)}\right]^{s-r-1} \left[\frac{1 - F(y)}{1 - F(x)}\right]^{n-s} \frac{f(y)}{1 - F(x)} dy.$$

Assuming

$$\frac{1 - F(y)}{1 - F(x)} = u$$
, which implies $(h(y) - h(x))^k = (-1)^k \frac{1}{a^k} (\ln u)^k$.

Thus, RHS of the above expression reduces to

$$=\frac{(n-r)!\ (-1)^k}{a^k(s-r-1)!(n-s)!}\int_0^1(\ln u)^k(1-u)^{s-r-1}u^{n-s}du.$$

Now, on application of Lemma 2.1, we get

$$E[(h(X_{s:n}) - h(X_{r:n}))^{k} | X_{r:n} = x]$$

$$= \frac{(n-r)!(-1)^{2k}}{a^{k} (s-r-1)!(n-s)!} k! \beta(n-s+1,s-r) \times \sum_{i_{1}=0}^{s-r-1} \sum_{i_{2}=i_{1}}^{s-r-1} \cdots \sum_{i_{k}=i_{k-1}}^{s-r-1} \frac{1}{(n-s+1+i_{1})} \frac{1}{(n-s+1+i_{2})} \cdots \frac{1}{(n-s+1+i_{k})}$$

$$= k! \frac{1}{a^{k}} \sum_{i_{1}=r}^{s-1} \sum_{i_{2}=i_{1}}^{s-1} \cdots \sum_{i_{k}=i_{k-1}}^{s-1} \frac{1}{(n-i_{1})} \frac{1}{(n-i_{2})} \cdots \frac{1}{(n-i_{k})}.$$

Hence the (8).

To prove the sufficiency part, consider

$$E[(h(X_{s:n}) - h(X_{r:n}))^k | X_{r:n} = x] = g_{r,s,k}$$

or

$$\frac{(n-r)!}{(s-r-1)!(n-s)!} \int_{x}^{\beta} (h(y) - h(x))^{k} \times [F(y) - F(x)]^{s-r-1} [1 - F(y)]^{n-s} f(y) dy$$
$$= g_{r,s,k} [1 - F(x)]^{n-r}.$$
(10)

Differentiating (10) w.r.t. x, we have

$$-k h'(x) \frac{(n-r)!}{(s-r-1)!(n-s)!} \times \int_{x}^{\beta} (h(y) - h(x))^{k-1} \frac{[F(y) - F(x)]^{s-r-1}[1 - F(y)]^{n-s}}{[1 - F(x)]^{n-r}} f(y) dy - (n-r) \frac{f(x)}{1 - F(x)} \frac{(n-r-1)!}{(s-r-2)!(n-s)!} \times \int_{x}^{\beta} (h(y) - h(x))^{k} \frac{[F(y) - F(x)]^{s-r-2}[1 - F(y)]^{n-s}}{[1 - F(x)]^{n-r-1}} f(y) dy = -(n-r) \frac{f(x)}{1 - F(x)} g_{r,s,k}.$$
 (11)

Rearranging the terms of (11), we get

$$\frac{f(x)}{1 - F(x)} = \frac{1}{(n - r)} \cdot \frac{k h'(x)g_{r,s,k-1}}{[g_{r,s,k} - g_{r+1,s,k}]}$$
$$= ah'(x).$$

Hence the theorem.

Remark 2.1: At k = 1, (8) reduces to

$$E[h(X_{s:n})|X_{r:n} = x] = h(x) + \frac{1}{a} \sum_{j=r}^{s-1} \frac{1}{(n-j)}$$

as obtained by Khan and Abouammoh [9].

Theorem 2.2: Let X be an absolutely continuous random variable with the df F(x) and the pdf f(x) in the interval (α,β) , where α and β may be finite or infinite, then for $1 \leq r < s \leq n$,

$$E[(h(X_{s:n}) - h(X_{r:n}))^k | X_{r:n} = x] = g_{r,s,k}(x)$$

$$= \left(\frac{ah(x)+b}{a}\right)^{k} \sum_{i=0}^{k} (-1)^{i+k} \binom{k}{i} \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \quad (12)$$

if and only if

$$F(x) = 1 - [ah(x) + b]^{c}$$
(13)

where a, b and c are so chosen that F(x) is a df and h(x)is a monotonic and differentiable function of x over the support (α, β) .

Proof. First we shall prove (13) implies (12).

In view of (1), we have

$$E[(h(X_{s:n}) - h(X_{r:n}))^{k} | X_{r:n} = x]$$

$$= \frac{(n-r)!}{(s-r-1)!(n-s)!} \int_{x}^{\beta} (h(y) - h(x))^{k}$$

$$\times \left[1 - \frac{1 - F(y)}{1 - F(x)}\right]^{s-r-1} \left[\frac{1 - F(y)}{1 - F(x)}\right]^{n-s} \frac{f(y)}{1 - F(x)} dy.$$
Assuming

Assuming

$$\frac{1-F(y)}{1-F(x)} = u,$$

implies

$$(h(y) - h(x))^k = (-1)^k \left(\frac{ah(x) + b}{a}\right)^k (1 - u^{1/c})^k.$$

.

Thus, we have

$$\begin{split} E[(h(X_{s:n}) - h(X_{r:n}))^{k} | X_{r:n} &= x] \\ &= (-1)^{k} \left(\frac{ah(x) + b}{a} \right)^{k} \frac{(n-r)!}{(s-r-1)!(n-s)!} \\ &\times \int_{0}^{1} (1 - u^{1/c})^{k} (1 - u)^{s-r-1} u^{n-s} du, \\ &= (-1)^{k} \left(\frac{ah(x) + b}{a} \right)^{k} \frac{(n-r)!}{(s-r-1)!(n-s)!} \\ &\times \sum_{i=0}^{k} {\binom{k}{i}} (-1)^{i} \int_{0}^{1} (1 - u)^{s-r-1} u^{(i/c) + (n-s)} du, \\ &= (-1)^{k} \left(\frac{ah(x) + b}{a} \right)^{k} \frac{(n-r)!}{(s-r-1)!(n-s)!} \\ &\times \sum_{i=0}^{k} {\binom{k}{i}} (-1)^{i} \beta(s-r, (i/c) + (n-s) + 1), \\ &= (-1)^{k} \left(\frac{ah(x) + b}{a} \right)^{k} \frac{(n-r)!}{(n-s)!} \\ &\times \sum_{i=0}^{k} {\binom{k}{i}} (-1)^{i} \frac{\Gamma[(i/c) + (n-s) + 1]}{\Gamma[(i/c) + (n-r) + 1]}, \end{split}$$

$$= (-1)^k \left(\frac{ah(x)+b}{a}\right)^k \sum_{i=0}^k \binom{k}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right).$$

Hence the (12).

Now to prove the sufficiency part, let

$$E[(h(X_{s:n}) - h(X_{r:n}))^k)|X_{r:n} = x] = \xi_{r,s,k}(x)$$

or

$$\frac{(n-r)!}{(s-r-1)!(n-s)!} \times \int_{x}^{\beta} (h(y) - h(x))^{k} [F(y) - F(x)]^{s-r-1} [1 - F(y)]^{n-s} f(y) dy$$
$$= \xi_{r,s,k}(x) [1 - F(x)]^{n-r}.$$
(14)

Differentiating (14) *w.r.t. x*, we have

$$\begin{aligned} -kh'(x)\frac{(n-r)!}{(s-r-1)!(n-s)!} \\ \times \int_{x}^{\beta} (h(y)-h(x))^{k-1} \frac{[F(y)-F(x)]^{s-r-1}[1-F(y)]^{n-s}}{[1-F(x)]^{n-r}} f(y)dy \\ -(n-r)\frac{f(x)}{1-F(x)}\frac{(n-r-1)!}{(s-r-2)!(n-s)!} \\ \times \int_{x}^{\beta} (h(y)-h(x))^{k} \frac{[F(y)-F(x)]^{s-r-2}[1-F(y)]^{n-s}}{[1-F(x)]^{n-r-1}} f(y)dy \\ &= \xi'_{r,s,k}(x) - (n-r)\frac{f(x)}{[1-F(x)]} \xi_{r,s,k}(x). \end{aligned}$$
(15)

Rearranging the terms of (15), we get

$$\frac{f(x)}{1-F(x)} = -\frac{1}{(n-r)} \frac{\xi'_{r,s,k}(x) + k \, h'(x)\xi_{r,s,k-1}(x)}{[\xi_{r+1,s,k}(x) - \xi_{r,s,k}(x)]}.$$
 (16)

Consider

$$\begin{split} \xi'_{r,s,k}(x) + k \ h'(x) \xi_{r,s,k-1}(x) \\ &= (-1)^k k \ h'(x) \left(\frac{ah(x) + b}{a}\right)^{k-1} \\ &\times \sum_{i=0}^k \binom{k}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &+ (-1)^{k-1} k \ h'(x) \left(\frac{ah(x) + b}{a}\right)^{k-1} \\ &\times \sum_{i=0}^{k-1} \binom{k-1}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &= (-1)^k k \ h'(x) \left(\frac{ah(x) + b}{a}\right)^{k-1} \\ &\times \left[\sum_{i=0}^k \binom{k}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &- \sum_{i=0}^{k-1} \binom{k-1}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right)\right] \end{split}$$

$$\begin{split} &= (-1)^{k} k \ h'(x) \left(\frac{ah(x)+b}{a}\right)^{k-1} \\ &\times \left[\sum_{i=0}^{k} \binom{k}{i} (-1)^{i} \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &+ (-1)^{k} \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &- \sum_{i=0}^{k-1} \binom{k}{i} \left(1 - \frac{i}{k}\right) (-1)^{i} \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \right] \\ &= (-1)^{k} h'(x) \left(\frac{ah(x)+b}{a}\right)^{k-1} \\ &\times \left[(-1)^{k} k \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{k+c(n-j)}\right) \\ &+ \sum_{i=0}^{k-1} \binom{k}{i} (-1)^{i} \ i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \right] \\ &= (-1)^{k} h'(x) \left(\frac{ah(x)+b}{a}\right)^{k-1} \\ &\times \sum_{i=0}^{k} \binom{k}{i} (-1)^{i} \ i \ \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &\text{and} \end{split}$$

 $\xi_{r+1,s,k}(x) - \xi_{r,s,k}(x)$

$$\begin{split} &= (-1)^k \left(\frac{ah(x)+b}{a}\right)^k \sum_{i=0}^k \binom{k}{i} (-1)^i \prod_{j=r+1}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &- (-1)^k \left(\frac{ah(x)+b}{a}\right)^k \sum_{i=0}^k \binom{k}{i} (-1)^i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \\ &= (-1)^k \left(\frac{ah(x)+b}{a}\right)^k \sum_{i=0}^k \binom{k}{i} (-1)^i \\ &\times \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right) \left(\frac{i+c(n-r)}{c(n-r)} - 1\right) \\ &= (-1)^k \left(\frac{ah(x)+b}{a}\right)^k \frac{1}{c(n-r)} \\ &\times \sum_{i=0}^k \binom{k}{i} (-1)^i i \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right). \end{split}$$

Therefore in view of (16), we get

$$= -\frac{a \ c \ h'(x)}{(ah(x)+b)} \frac{\sum_{i=0}^{k} {k \choose i} (-1)^{i} \ i \ \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right)}{\sum_{i=0}^{k} {k \choose i} (-1)^{i} \ i \ \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{i+c(n-j)}\right)}$$
$$= -\frac{a \ c \ h'(x)}{(ah(x)+b)}.$$

Hence the theorem.

Remark 2.2: At k = 1, (12) reduces to

$$E[h(X_{s:n})|X_{r:n} = x] = a^*h(x) + b^*$$

where

$$a^* = \prod_{j=r}^{s-1} \left(\frac{c(n-j)}{1+c(n-j)} \right)$$
 and $b^* = -\frac{b}{a}(1-a^*)$.

327

3 Some Examples

Examples based on Theorem 2.1

a) Pareto Distribution

$$F(x) = 1 - (x/\alpha)^{-\theta}, \alpha < x < \infty, \ \theta > 0$$

with $a = \theta$, $h(x) = \log(x/\alpha)$ and

$$g_{r,s,k} = k! \frac{1}{\theta^k} \sum_{i_1=r}^{s-1} \sum_{i_2=i_1}^{s-1} \cdots \sum_{i_k=i_{k-1}}^{s-1} \frac{1}{(n-i_1)} \frac{1}{(n-i_2)} \cdots \frac{1}{(n-i_k)}.$$

b) Weibull Distribution

$$F(x) = 1 - e^{-\theta x^{p}}, 0 < x < \infty, \ p, \theta > 0$$

with
$$a = \theta$$
, $h(x) = x^p$ and

 $g_{r,s,k} = k! \frac{1}{\theta^k} \sum_{i_1=r}^{s-1} \sum_{i_2=i_1}^{s-1} \cdots \sum_{i_k=i_{k-1}}^{s-1} \frac{1}{(n-i_1)} \frac{1}{(n-i_2)} \cdots \frac{1}{(n-i_k)}.$

c) Log Logistic Distribution

$$F(x) = 1 - (1 + \theta x^p)^{-1}, 0 < x < \infty, \ p, \theta > 0$$

with
$$a = 1$$
, $h(x) = \log(1 + \theta x^p)$ and

$$g_{r,s,k} = k! \sum_{i_1=r}^{s-1} \sum_{i_2=i_1}^{s-1} \cdots \sum_{i_k=i_{k-1}}^{s-1} \frac{1}{(n-i_1)} \frac{1}{(n-i_2)} \cdots \frac{1}{(n-i_k)}$$

Similarly, with proper choice of a and h(x) characterization results for other distributions based on Theorem 2.1 can be obtained. For more distributions one may refer Noor and Athar [13].

Examples based on Theorem 2.2

a) Power Function Distribution

$$F(x) = \alpha^{-p} x^{p}, \ 0 < x < \alpha, \ \alpha, p > 0$$

with $a = -\alpha^{-p}, b = 1, c = 1, h(x) = x^{p}$ and

$$g_{r,s,k}(x) = (\alpha^p - x^p)^k \sum_{i=0}^k (-1)^i \binom{k}{i} \prod_{j=r}^{s-1} \left(\frac{(n-j)}{i+(n-j)} \right)$$

b) Pareto Distribution

$$F(x) = 1 - \alpha^p x^{-p}, \ \alpha \le x < \infty, \ \alpha, p > 0$$

with
$$a = \alpha^{p}, b = 0, c = 1, h(x) = x^{-p}$$
 and

$$g_{r,s,k}(x) = x^{-p} k \sum_{i=0}^{k} (-1)^{i+k} \binom{k}{i} \prod_{j=r}^{s-1} \left(\frac{(n-j)}{i+(n-j)} \right)$$

c) Weibull Distribution

$$F(x) = 1 - e^{-\theta x^{p}}, \ 0 \le x < \infty, \ \theta, p > 0$$

with
$$a = 1, b = 0, c = \theta$$
, $h(x) = e^{-x}$ and

$$g_{r,s,k}(x) = e^{-x} k \sum_{i=0}^{k} (-1)^{i+k} \binom{k}{i} \prod_{j=r}^{s-1} \left(\frac{\theta(n-j)}{i+\theta(n-j)} \right)$$

d) Inverse Weibull Distribution

$$\begin{aligned} F(x) &= e^{-\theta x^{-p}}, \ 0 \le x < \infty, \ \theta, p > 0 \\ \text{with } a &= -1, b = 1, c = 1, \ h(x) = e^{-\theta x^{-p}} \text{ and} \\ g_{r,s,k}(x) &= (1 - e^{-\theta x^{-p}})^k \sum_{i=0}^k (-1)^i \binom{k}{i} \prod_{j=r}^{s-1} \left(\frac{(n-j)}{i+(n-j)} \right). \end{aligned}$$

Similarly with proper choice of a, b, c and h(x), results based on Theorem 2.2, can be obtained for various other distributions. One may refer to Noor and Athar [13].

4 Conclusion

The study of ordered random variables and its application have always been interesting topic among the researchers, particularly in characterization of probability distributions, reliability theory, and estimation theory. In this paper, we have proposed a new approach to characterize two general form of distributions through conditional expectation of k^{th} power of difference of two order statistics. These new characterization results are then applied to characterize some well known probability distributions.

Acknowledgement

The authors acknowledge with thanks to learned referee and the editor, Mathematical Sciences Letters for their fruitful suggestions and comments which led to the overall improvement in the manuscript.

References

- H.A David and H.N Nagaraja, Order Statistics, John Wiley, New York, 2003.
- [2] A.H Khan and M.M Ali, Communication in Statistics-Theory and Methods 16, 1281-1287 (1987).
- [3] A.H Khan and M.S Abu-Salih, Metron 48, 157-168 (1989).
- [4] M. Franco and J.M Ruiz, Statistics 26, 375-385 (1995).
- [5] M. Franco and J.M Ruiz, Metrika 45, 107-119 (1997).
- [6] F. López-Blázquez and J.L Moreno-Rebollo, Sankhyā, Ser. A, 59, 311-323 (1997).
- [7] J. Wesolowski and M. Ahsanullah, Australian Journal of Statistics 39, 69-78 (1997).
- [8] A. Dembińska and J. Wesolowski, Metrika 48, 215-222 (1998).
- [9] A.H Khan and A.M. Abouammoh, Journal of Applied Statistical Sciences 9, 159-167 (2000).
- [10] A.H Khan and H. Athar, Journal of Applied Statistical Sciences 13(2), 147-154 (2004).
- [11] A.H Khan, Mohd. Faizan and Ziaul Haque, Probstat Forum 2, 132-136 (2009).
- [12] I.S Gradshteyn and I.M Ryzhik, Tables of Integrals, Series and Products, Edited by A. Jeffrey and D. Zwillinger, 7th Ed., Academic Press, New York.(2007).
- [13] Zubdah-e-Noor and H. Athar, Journal of the Egyptian Mathematical Society 22, 275-279 (2014).



Haseeb Athar received his Ph.D. in Statistics at Aligarh Muslim University, Aligarh (India). His area of research interest is Statistical Inference, Order Statistics and Probability Theory. He has got published several research papers in the peer reviewed journals of International repute. He is also

member of Refereeing Board of several International Journals. Currently he is working as an Assistant Professor at Aligarh Muslim University, Aligarh.



Zubdah-e-Noor is Research Fellow in the Department of Statistics and Operations Research, Aligarh Muslim University, Aligarh, India. She is pursuing her Ph.D. under the supervision of Professor Haseeb Athar. Her area of research is Ordered Random Variates and Statistical Inference.